POLYNOM n-tého fadu
a b c d x| xM0| xM1 xA2 xA3 y=axM0| y=ax"0+bx"1l| y=ax"0+bx"1+cxh2| y=ax"0+bx/A1l+cxM2+dx/A3
1,00| 1,00/ 1,00, 1,00 1,00/ 1,00, 1,00 1,00 1,00 1,00 2,00 3,00 4,00
1,00/ 1,00/ 1,00, 1,00/ 3,00/ 1,00, 3,00/ 9,00, 27,00 1,00 4,00 13,00 40,00
1,00/ 1,00/ 1,00, 1,00/ 5,00 1,00/ 5,00/ 25,00 125,00 1,00 6,00 31,00 156,00
1,00/ 1,00/ 1,00, 1,00 7,00/ 1,00, 7,00| 49,00/ 343,00 1,00 8,00 57,00 400,00
1,00/ 1,00/ 1,00, 1,00/ 9,00/ 1,00, 9,00| 81,00/ 729,00 1,00 10,00 91,00 820,00
1,00/ 1,00/ 1,00/ 1,00| 11,00/ 1,00| 11,00|121,00| 1 331,00 1,00 12,00 133,00 1 464,00
y=ax"0 y=ax"0+bx"1
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1,00 12,00 /
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y=ax"0+bx"1+cx/N2 y=ax"0+bx"1+cx"2+dxN3
140,00 1 600,00
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120,00 ) /
100,00 / 1.200,00 /
£0.00 / 1 000,00 /
6000 / — y=ax N O+bxA 1+cX 2 800,00 / ———y=ax"0+bx" 1 +cx 2+...
’ / 600,00
40,00 400,00 /
/ : 4
20,00 / 200,00 ——
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Prim ka prochazejici pocatkem (0,0) je definovana jedinym parametrem: k




